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oncoursinfe. expression ( L'exprs

255i0n ) oH = C ofT is vald for a 1
which of the following conditions are true
substances thermodynzmigue reliz avec laquelle de condition ¢i
? (H = enthalpy ienthaipie) , C= specific haat [c

Temperature) ?
A} C=Cvand volume iz constant (& volume constant)
8) C=Cvand pressure is constant (3 pression conslant)
C) C=Cp and volume is constant (3 volume constan
D) C=Cpand

{)
internai energy is constant
C=Cp and pressurs is constant.

(@ pression constant
35 Which of the following is NOT a thermodynamic
Lequei des paramétres Suivants ne ca
d'un  systéme thermodynafmique?
A) Enthalpy / Enthalpie
C) Pressure / Prassion

) Temperature / Temp

property of a system?

B) Entropy /Entropie
D) heaf_ / Ch

al

aieur

: |
2rature

55. Ice melts when Dresst
pression parce que |
A) pressure has the same efact as heat on such 2 solid
La pression a le mé

me effet que la chaleur sur un tel-solide
B) the heat of fusion of watdr is large

La chaleur de fusion de I'eau est élevée
<) the density of water is griatest at 4° C
La densité de I'eau est plus élevée & 4° C
D) water has a very large specific heat
ia Chaleur spécifique de I'eau est trés grande
&) water expands as it fra=zas
Le volume de I'sau

S

augment lorsqu'elle congale
57 Whizh of the fellowing is always true of the free expansion of a gas?
* Laquellz des propositions! suivantes est toujours vraie pendant Ia

Cilatation libre d'un'gaz ? _

A) The initial and finalinternal energies are equal

Les énergies intemnes initiafé et finale sont égales

E) the initial and final pressures are equal

Les pressions initiale et finalé sont égales
C) The initial and final volumes are equal

Les volumes initia! et final sont égaux

D) Scme heat is transferrad /11 y & transfert de chaleur

£) Some external work is done /

Ity a production du travail externe

-
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B) diffusivity of the solute in the membrane /
ia diffusitvité du soluté dans ia membrane

C) diffusivity of the solute in the sovent /

la diffusitvité du soluté dans le solvant

63. The valve on a bicycle tyre is opened briefiy,
the suroundings. At the instant when the
remaining in the tyre is
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La valve d’un pneu de bic
instant, perm

A) a:the same temperature as the tire and
¢ la méme températu

the surrounding /
re que le pneu et I'air ambiant :
B) cooler than the surrounding / plus froid que I'air ambiant
C) warmer than the surroundings / plus chaud que I'air ambiant
3j
)

E) more dense than it was originally/ -
plus dense qu'il n'était au départ

between the ball 2nd the floor is

rebondf, il n‘atteint plus que la distance h;.
de restitution entrede ballon et le sol ?
A)vhy/h,  B) Vhoh, C) hyth,

A car o mass 3600kg hits.a‘wall a
spring constant that

bumper travel
nea-ly

D) hofhy

- . hl

Une voiture de masse 3600kg entre en cdljision a
vitesse constant de 6km/h puis s’immobifise.
d'élasticité

L

-
on through a cellophane membrane of 3qasolue
composed cf pericles with small diame
| ths

more humid than the surroundings / plus humide que F'air ambiant

4. A ball is'releasad from rest and falis to the floor a distance ho. When it
bounces back, it only rises to a height h,. The coefficient of restitution
Un. balion au repds tombe au sof 3 une distance h,

Quel est le coefficient

{ Bkm/hr and comes fo rest. The

the cars front bumper must have to limit the
to 5 cm (neglecting friction and air resistance) is

La constante -
au pare-choc qui permet un recul maximum de 5cni est

[

ters Is inversely proportional to,

Le taux de diffusion & travers une membrane de cellophane d'urn
solute compose de particules de petits diameters est inversement
proportionnel a

A) thickness of the membrane / I'épaisseur de la membrane

D) temperature of the membrane / la température de la membran=
£) surface area of the membrane / Ia superficie de la membrane

allowing air to escape to
valve is closed,

2 ar

yclette est ouverte pendant un bref

ettant 2 l'air de s'échapper a 'sxtérieur. A l'instant o
Ia valve est refermée, I'air restant dans le pneu est
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the elements
shown in ths diagram on  th= nght. with
R=10000 ohms. i= 25millihenries and C an
adjustable capacitance.  The AC wvnltage
generator supplies a signal with an arn ude
of 40 volts and angular frequency of
1000 radians per second. For what value of C
is the amplitude of the current maximised? On
considére le circuit de Ia figure ci-contre avec
R =10000 ohms, L= 25millihenries et C une
capacité réglable. L'amplitude de la tension
AC est de 40 volts et sa pulsation
angulaires et de 1000 radians par second.
Pour queile valeur de C l'amplitude du
current est-eile maximum ?

A) &nF o

Bj42 nF. '

C) 4mF

D) 40 mF !

E) 400 mF

70. A constant amount of an iceal gas
undergoes the cyclic process ABCA in the PV
diagram shown on the right. The path BC is
isothermal: The work done by the gas during
cneLomplete cycle, baginning and encing at A
is mostnearly: j

On corsidsre 12 transformation cyclique ABCA
dans l2 ‘diagramme PV comme indiqué ci-
contre. La transformation BC est'isothermale.
Le travail effectué durant le cycle complet est
proche de laquslie de valeurs suivantes ?

357G 1030 \A) 600 kJ |

B) 300kJ
C)0

D) -300 kJ
) -600 kJ 5

P (kPua)

300

200




71, A acticle 15 constramed 1o Move ina circie with 2 TO-WM @SCONCours4 :
one instant, e particte S peed 1S melels nefl second and is f,ff-"fhf@nf chargde.  Apre .
increasing rate of 1 metres Per second squaret Tha angie ir;ﬁf"f:’:*“euf coreiien rﬁ}r;{)r;e;; ‘srmeture e i .
penween the P ricle’s velocity 2nd acceleration yectors ’;r;\fg 3 m’ss,paﬁo”;;f emos s‘écouie:: - N
yne pa;ﬁcu!e est assujettie as deéplacer sur un cercé e de rayon de vA)c.f,e@ .18 cetie Ca:" f’ {'-’f’cnf:é de f"‘énen-‘-.'f; .
om. A pinstant t. {a vitesse (a particule € 10 mis et D) ,’j B) "f‘j:if 7 # #__/ »
augmente de 10m : Quel-est angie qué fait 12 vitesse de la 2RC (2) E) P\fk‘”h- C) RC/4 _i_ o
rticule avec SO0 vecteur secélération o0 Chn(2)2 ' C ' .
(A) 0= (8) 30%(C) 49 60 ()90~ _ 1 % &
f ra(]jlii;; Oofrtr:”eFT'OIIC‘.uing 3 most l |
72, For the system consisting! of two lLaquzlle dees‘i,a;;h IS aboul 8.4 X :gsa;@ the fass of the Eamh?
] ) uf net s 7 -
plocks SNOWR on tne rght, e Iirre': (Le rayon d;siadif“aSSe SUi\fan;e:r:?» h? {The
minimum norizontal force ¢ i applied . B 10% kg terre est environ 6 4b:[ plus prochs de cel2
<o that block & does not 2! under the Ej =™ 10 k ) B‘m métres? =dela
fluence of gravity The Masses of )8x 10% kg DJ 6x 107 kg
and o 160 kg &0 £.0kg ) 6x 10 kg
respecﬂve\y. The norizontal surface 1S
_ frictionless and (ne coefficient of fricion ,'_ 75 in the o
pblocks 18 050, The ' - circuit 6n tha foit
are given inooht;i\us ='§=‘“=L the resistances
5 nd ihe Ddaltery u!;

petween the two

magnﬁude of Fis
Soit e systeme constitué ¢e deux .
plocs A de masse 18,0 kg et B de \
on fique @ ¢ r A \ 8
= i i

masse 4,0 Kg- appﬂ;
systeme P ssenté Ci-CG nire une \
force horizontal minimum telle \ .
ue le blo B ne chute pas sous
|'effet de la grawté considere
ye ce syst me est P 6 sur une
surface horrzonta!e jisse et que &
coefficient de frictiofl entre les deux
blocs est @& = De | elie vaieur
1a forceF € t.elle pius proche 7
A) 50 100 N c) 200 N
D) 400 N £) 1600 N
Ve |
73. The capacitor in the circuit shown on the
fght 1S initially © arged. After closing the
Switch, how much time elapses until one-half
of the oapac'ttor's initial stored energy s
. dissipated? '
15 capac du circuit ci-contre est ,
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B uslesconc@urg_imhao-energeﬁc beam consists of unsiable particles with total
. .> anguiaWWHELO | e€nzrgies 100 times their rest €nergy. if the particles haye rest mass by
- ' fixe avec une Viiess: vitesse a 40 . their momentum s most ne@ﬂy ‘ ) '
fpprachun axe s e ‘, Un faisceau de Particules 'instaple de masse m, de mérme
o qui (ouMe 3uUloL ; appliqu” torston 4+ | vitesse, a une énergie 700 fois plus grande que feyr énergie ‘
g RO o drsd ¥t - .
Kg-AHe econde. O iU ap de masse ay epos. Quelle est ia veleur approximative de feur
i ar s i 2 vantité de mouvemenst .
adians p jation de q : _
i ., \,'arJaL \ | :
dian par seconde i1 Quel estla ‘ ] A) mc B} 10 me — C) 70 me .
° ‘ t py e cylipder 1] D) 100 rnc E) 10° mc! E
rqy 105t . 7 ‘ E
The kinetic en,eti%\ire de ce Cyi'zdre | i ,
77. _ie cinéti 800 ' ‘ 5
. ie B : m - ;
rengf’if D)) 9660 J 82 The circuit shown on the right is used to ~‘-
A) 8 g, the - Mmeasure the size of the capacitance C The 4
. . ong, t : .
ADOU J 3¢ S ef Sec 5 H 5 - z : v
C) 19200 J ach 40 [#dian ﬁa le cylindre 2 7 ycoordm_ate of the spot on the oscnl!oscope
B 10 seconds tO‘T? On SUPEose.s ‘4o radians par SCreen “is  proportional o the  potentiz
+ 5 . - . e ~Forg =] angd th e rdinar :
¢ e cylinder Lakeinoued torque 1S o vifGSSE .,q,mz’? Ej;ﬁeremce_ across R, LJ = IR X-coordinars I
78. ¢ tude of e 2P e atteindre e i 1 1HER the spot js Swept at a constant Speed, §.
antdds = e i T “re g p :
m%g‘*“o secondes .f‘oje couple (mu%-‘i i The switch is closeq and then opened. One
T o de DetermindZ B) 40 P can then calculate C from the shape and the
a0 fi . W ¥ 2 i
S'«’%‘{’}"\l m D) 161 ‘ Size of the curve on the screen plus 3 SV
Ay BU taris b knowledge of which of the following? R
29 N.m o auble 8 | JEIR ek iy o 28 . :
E) a2k NNm wone?{% ofa df;:ave\engih _05 : On  utilise le  circuit Ci-contre poyr Vo'T:L CT %R‘]*L{ﬁl
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«t nearly st de B MiC T nné
5500anstroms: l,g star is mO:‘L.ne;\e double 21 d ha aux borne:s de R et la coom’qnnee X .
Dol ve the doubie e dune alow Caavainle et €8 iroir du Spot se déplace & yne wtessg constante
res? . sration anguialt rayoqnem:”_ il B _ S.'On ferme linterrupteur, PUis on ouvre
La.f'ep yeur ¢'onde d:.jest ie diametre 26 o linterrupteur Cette experience permet de
s ‘on'?wstroms- e 12 resolution calculer 13 vafeyr de C 3 partir de Ja *
55|0020pe qui parmet B) 1 om forme et la. hauteyr de fz couyrbe d'une
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Ay 1 mm win glasé | :
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une ; me mince d ‘_"‘e minimale de c& the frequency ang wavelength of a given light wave is given
une vitgsse T ! b
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hanjc

iCs, m Vv

, mGovement | ouvemeni est //
L L J

un faiscea ds lumi
arive SUr Une fente horizontale de \argeur @ {aes
mmt On observe sut 1’écran_fé‘atuf= 3 une distance D ( if a beam
of monochromatfc Jight of; wave!ength A passes through @ A) Un con
norizontal oiit of width 2 mfﬂime‘tres what would one ohserve 3 mowﬁésbnte de mouvement
on a screen placed ata dist,[ance of D from the slit?) 8j propomgﬁriszam ent/
A) Un point L Lmineux corresppndent zu faisceau de largeur @ Jotzntielle ?”elic ala somm ‘
A spot light of width & q:orrespondfng to the width of the is Pfﬂpomzm,f e des énergies cingtiq
jight beam : 2 U stanr tothes ) -ingliques et
B) une tache circulaire ge largeur 28 / isa Veii;fregf dérivant ;L’; of kinetic and potent ?
A circular spot of diameter, 28 D) Proport erived from & potentiel / ential energies
c) Une figure de diffraction tfor'\zonta‘.e | Proporti gOHne!.‘e a l'accélérati potential
A horizont.” ¥ diffracted figure SINulle si Igai’ to ecca‘;eraﬁoaflon /
D) Une figure de diffraction berticale I Zero if the somme des forﬁf. 5
2 vertically giffracted figure sum Oféi;zj} internes est nulie /
! . niternal f Al
85. On reprend {expérnence dela question précédeni—a. 89. On lache dep: orces is zero
Lz tache centrale de difraction posséde yne largeur L égale 2: un Peﬂda;|e epuis I'horizontal
ith reference questio‘n g4, the diffracted light spot on the m et de lon S‘TQle de maség .
gcreen hias @ widgth L equivalent to): par (a Vegrsljr{!' Au passage ‘ L _
A) 2ADla B) ADa o zpparent dy “f?ez le  poids T\Q
C) hall D) 2 AalD E)2 Na & pendelum pendule est/ (if ; r:
: e : fength 1 is rf.quass m and {1
a5, Lavitesse de propagathn @rune onde mécanigque / fiorizontal mr_a_s_ea' from @ i /
The velocity of propagat;’cn of a mechanical v ave voould  pe position  what | /
A) augmentie avee ‘amplitudede ronde weight as its  apparent 5
increase Wi he amplitude of the W poisition ?) the vertical I ’
3) diminue guand ramglitude d€ ronde gugmente / A) 3mg . S 2 <
decrease: th increase in wave amplitud® B)2mg : £ T
C)est indépendante de ramplitude de 12 perturbation I C) mg =
is mdependem of {the amplitude of the propagaﬂon D) mg/2 .
est indépendan‘ie du miliey de propagat‘xon | E) mg/3
F) s independent of the propagé ion medilm
g7. La seconde, 1& metre, yampere et e Kkilogramme sont des unites d 9_0- L'énergie < cinati '
pases du systeme aternational Trouver renité equivalente @ mﬂﬂoatomiqslnet'%e moyen
Joute. (The second, the metre, the mpel and the kilogramm average kine?‘ parfait a la te e des particu
are all units of the S system Which of the following units ges at a tem tic energy of th;mper_ature T & 3&;‘95 dun  gaz
equivalent to the Joute?) \ , : A) 150 k (ave fﬁf ature of Tzsaoffa-mc’es of a perf, K vaut (The
A) kg S | B kg ; B) 300 k = constante de B is), o ect monoatomic
C) kg.m.S D) kg.m ' Eykgmis C) 450 k = oltzmann) = /s~
g)} 27k B
i D?B
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‘, re
g1 le circult 4 droite est alimante par une WWW t
o) : A 1 o A i . . i A
source de tenson SR si o ouslesconcoursinfa.. o,
diminue ja résistance r2 (f 10 the circuit I o i : he figure Ical, concave .
diagram ©f the left subjected to & ! ' \ and i on the € Mirror s s
; | ] i the a8 nght. (T 15 sh
constant voltage, Vi the Resistance R2 is V_)__ 5 P indicated ’icac@n. CfL “%fha focal DC;WT 0
reduced T ! = located™ t waai pai ¢ obje Int F S -
' : i - 1 i pomt il .-J ct O ars \
A the cu.ren*t in R1 \A_nl'. increase / i T Qn con are | Wil the image 5“ N\ Miror i
 the current in R1 will drop. 3 L B Ci-Contre. £ le miroir co » be o =
B)le courant dans R1 reste constanfe’s . foyer et Ig el O sont ?CE?V@ de Iz 5 T e s \
the current in R1.remain unchanged /. 2 position GPO§!fion de I.{;bg?spectfvemégfure A r}{",;} ___________
C) la tension 8UX pornes de RZ diminue : - AVl By l'image 7 jet OUsera le ‘ ¢ .1
The voltage in the terminals of R2will drop M C) H-J ;
E) la puissance dissipée dans R2 diminué ! ' " D)iv 2
The power dessipated in R2 will decrease 95 A ) '1 E) v i
£ la puisance gissipee ¢ans R4 diminue / capacji)'mwrofarad et :
The powel dessipated if R1 will drep Combfnatrfo When 3 303'3:10,1’15 connect
A) 0.0g n, the ot -valt potent ted in seri
: » ) , ) . 3 ~ - '-J e ‘8! & o ) ent!af | Series wi
) g2. Si deux lentilles minces de méme distance focaie ¢ oon accolees. C}0.27 4 ‘ NerdY s ‘ead in t.d’ffEreﬁc:e i; o a 6-microf,
».-alies 5OAL equwa\entes 4 une mentiie unique de distance topale F avec . £)0.8% g :Bj 013 4 ne bwo Casani?Pp!I?d acrossa:::l-d
(If two thin lenses each of socal length fare pfac_;d together, they 4 D) 0.47 4 A3Citors is this s
- will be equivafeni to a single fens of focal length with } ' 98 A anai ; ¥
p) F=2f y F=1121 C)‘HF*’“\HZ - p) E=v2f g) =T heat at :"tg’”e absorbs heg -
Bt s AT eat at 3
o _ sible efficiency. fo- o i
3. On consicere |e diagramme de phase (P.T) e engine pe;gme,.c  for 200%:5-’ C.if {ﬁffature of 727° _
.- leau on déduit: (Given the graph on the ieft of Un moteur r”l')s is most nea J;OUJeS of he:*e‘ngfne Op;ratc and exhayst o
. pysTof water itcan concluded that) 8vacye absorbe (Y tinput the - es at mayi 5 ]
A) La température de fx,_m'sion de \a glace diminue, foncf,Gnq‘;e 2 Cha!eu:aa zf?aieuf a une =Pkl of Wo’rf“’ ;m :
lorsque 18 press'lon-augmente chaleur absg, vec un ren d{?e températ tempéra 3
The temperature of fusion of ice decreases With A) 400 rbés, la qua nr?'menr o ax:;r e de
increase in pressure : C)1600 4 Bh;e travail foy um, po
B) Pour une temperalure inferieure @ 0°C il est. ' D} 145 frie sera
ossible de faire fondre la glace &n appliquant une m97. A uniform } 2000 J
pression suffisamment slevée &ss 20.kg i rod of fen ?
: . P : ; is ength
For temperature pelow 0, it iS5 possible 10 melt ég kg mass Onbslanoed on E}S[ metre. ang
ice by applying @ high pressure : ‘g mass on th 1€ end of th Cum with.
L £ . 2 a
C) Au point 0 il y a equiibre antre trois phases L {Lghf. s fa? olher end, as S;de and 3 20
There is equilibrium petween the three phases PR € Centre of the,S the fulcrym Ihowﬂ on the
D) Quelles que <oient pression &t remperature,l €st g 5 0m rog? ocated from
'\r*h?jé’ésiblede sublimet la glace C; Tm
{rrespective of the pressure and temperature it D) :-25 m . :
le to subtime the ice E)z'sfﬂ :
: m ;
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58. A new monatomic deal gas 1S discovered. A DULE 4 moie *
sample 1S sitting in a dontainer at equiubri\Y(\(\WW-,EDlﬁceg;OnCO@r; of TTeLUNIJUK AP
aavironment. according ta the kinetc theory of gases, what is the 8 L — T T — y PaAPER o
_verage kinetic energy per motacule for this gas? T T ———— T it o g
On a découvert un noyveau gaz monoatoquua ‘déal. Un o ———— St L%
schantilfon de 4 moles de ce 932 ot contenu dans - 1 récipient S — B “--»-n..“________‘“"—-_,____ﬁ_____"—- g e
placé dans ufl environngment 5 20°C. En theorie cinétique de [ "”"*—-q__“_______;_ —--*_____;____‘L.__ i %
gaz, quelle st I'énergie gcinén’que moyenne par molécule de ce | T ————— —_— . e NS S
az? | S — —— =Sy SO
A) 4.14x10'22 M (‘ —_— e R ——— "Rﬁ__\!
8) 6.07 X 107 J i e, '““‘“-_..____:"““fm-—_ \!
cy202x 107" - S g
D) 3652 J j ——— '——hq_—*“—-‘-_.______-——-—-—__._____ N
£) The motar mass ofthe gas is nesded f0 answer this question / e ——— Lo s : I
Les informations sur |a masse du (gaz sont nécessaire pour T S - e ]
répondre @ cette questian.. ) S sl g M —— '""--._________.-'-—-——-._____m \1
99. When gas escapes from a p.'-:--ssurized cylinder. e stream of 3as e i L O e ——- __:__'\\f-!
feets cool. ' Sl iy e ————— g
This is because i : . I b i B = ———— e
Lorsque le gaz Siachappe @un cyhindre pressuiise, le courant ——— ot - T I e i Pl
de gaz sortant est frd id parce qué ' e St e R -h—__h___._:"“'h—_%
A) work is being cone At the axpense of the tharmal enargy e el
Le travail est accompi a detrfiment de &nergie tnermique "‘*—Eﬂ____'q_'
B) of the convecton i side the cylinder !
fiya convection au ckin du cylindré =
C) pressurized cylinders are good thermal insula'ors
Les cylindres pressurisés sont de bons isolanis thermigues
D) the gas inside the cylinder is actually frozen
‘Le gaz au sein du cyfindre asten realite congelé
G) the moisture in the air condenses and cools
rhumidité dans Iair se condense et se refroidit

A heat engine tak
of work in eacn ¢y
utilise 200 pour
son rendement i

A) 500%

C) 25%

100.

s in-200 J of thermal energy an

le. What isits
ffectuer un rava

d performs 500
oteur thermique™

m
| es

efficiency? un
¢ cycle. Que

il de 50 J pa

B) 400%

D) 20% E)12 %
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